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+ The success of E-Banking depends upon -
(1) Multi-layer Security System

(ii) Risk and Surveillance Management
(iii) Updated Flawless Software

(iv) Banker's Liability

(1) (i), (ii1) and (iv)

(2) (1), (i), (iii) and (iv)

(3) (i) and (ii)

(4) (i), (ii) and (iii)

(5) Question not attempted

- Match the following items of List-I with items of
List-II and indicate the code of correct matching-

List-1 List-I1
(Name of (Year of
Organisation) Establishment)
(a) IDBI (i) 1956
(b) ICICI (ii) 1955
(c) LIC of India (iii) 1990
(d) SIDBI (iv) 1964
Code -

(1) a-(iii), b-(i), c-(iv), d-(ii)
(2) a-(iii), b-(1), c-(ii), d-(iv)
(3) a-(1), b-(i1), c-(ii1), d-(iv)
() a-(iv), b-(ii), c=(i), d-(iii)
(5) Question not attempted

- NEFT means -

(1) Notional Electronic Funds Transfer
(2) National Electronic Finance Transfer
(3) National Electronic Funds Transfer
(4) Notified Electronic Funds Transfer
(5) Question not attempted

- Which Coefficient of Cormelation is more

significant from the following?
(1) r=.70 and PE =0.02

(2) r =.60 and PE = 0.04

(3) r=.90 and PE=0.03

(4) r =65 and PE =0.024

(5) Question not attempted

-

. In which year the Jaipur Stock Exchange Lid "'

was recognised for the first time?
(1) 1984 (2) 1983
(3) 1982 (4) 1986
(5) Question not attempted

1:

2.

4.

5.

- dfFT &1 wwerar v wwd & —
(i) FEFTIY GREN WOTe!

(ii) Ffes g FwrE wag

(iii) arEe= smfea wivedas

(iv) 4% @1 Sifia

(1) (i), (iii) 3 (iv)

(2) (i), (i), (iii) 3 (v)

(3) (i) 3 (ii)

(4) (i), (i) 3 (i)

(5) Frperiveg weA

—1®] #al $I GEI-11 & Fa1 B | Gt
3R el e faked oY —
A1 a1
 (we & W) (verr=T %7 )
(a) IMESTALaNE. (i) 1956
(b) TS 1.3 301378, (ii) 1955
(¢) Terame Wt affe sfeEa (i) 1990
(d) ue.a1rd S48, (iv) 1964
?" f—

(1) a-(iii), b-(1), c-(iv), d-(ii)

(2) a-(iii), b-(i). c-(ii), d-(iv)

(3) a-(i), b-(ii). c-(iii), d-(iv)

(4) a-(iv), b-(i1), ¢-(1), d-(iii)

(8) sFafRd wee

TAENEE | A E —

(1) sffurnens  goagie Sy S

(2} bt goraeife e axaraw

(3) Irfra gerasie Iy i

(4) sfegfom geragiiie S gwiae

(8) argeiiie wes

Fefofaa weday sl § FEwr afte
TEE £

(1) r=.70 3R PE = 0.02

(2) r =.60 3% PE = 0.04

(3) r = .90 3% PE = 0.03

(4) r =.65 3T PE = 0.024

(5) sreiRa we

s wh Al 6 @ suar s ad A
guH AN fiE? .

(1) 1984 (2) 1983
(3) 1982 (4) 1986
(5) srwia we
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6. Which is not a part of Investment Decision in 6 fasfiy wawr % fafram fofy &1 R #rm

Financial Management? w8l g &7
(1) Cost of Capital Decision (1) Gt @rra fFofa
(2) Capital Budgeting Decision (2) gt gqures fvig
(3) Dividend Decision ; (3) wrarer Aot
(4) Working Capital Management had (@) FRiE Do wa
(S) Question not attempted (8) srgaia we
7. Identify the item which does not include under 7 &Tq] WAl S @ ST S He wHlAE
Current Account transactions? el Bl 87
(1) Investment Income (1) fa sz
(2) Unilateral transfer (2) vH—usita iR
(3) Non-Monetary Movement of Gold (3) wavf &t —Hifgs
(4) Services (4) ward
(5) Question not attempted () arpafie we
8. The main objectives of World Trade 8 favg sy v &1 wiE Fiwy & —
Organization is - (1) gafawor &7 HeEm
(1) Protection of Environment (2) Sfre W gt
(2) Increase in standard of living (3) T BT AT ST
(3) Optimum utilization of resources i
A (@) Sfea W
(4) All of the above . 5
(5) Question not attempted ;q ) srgefa v

9 ABC Ltd. has profit after tax 80,0007 8. wirf fifids & wrw &¢ & @@ @ 80,0003
Depreciation T 15,000 and decrease in Debtors HeuwE 15,0003 3R SR § &4 25,0008 2

T25,000. What is the cash flow operating qfeTe RRR & S g T 27

activities?
(1) T70,000 (2 755000 (1 T 70,000 (2) T 55,000
(3) ¥1,20,000 (@ T 40,000 (3) T 1.20.000 (4) T 40,000
(5) Question not attempted (8) sraRa wea

10. Which of the following services are included in  10- Fp=feifiaa 4 4 9uvesr wwemr sifefras 1986
the scope of the Consumer Protection Act, 19867 T &9 | B dan wiafea &7

(1) Medical Services (1) warey Hamn
(2) Transportation Services (2) gRaes Fand
(3) Banking Industry (3) #f T
(4) All of the above (4) Suzfar i
(5) Question not ﬂltﬂfﬂ[ﬂﬂd (5) iﬂaﬂﬁﬁ 0o
1. Which of the following is not a Capm"- 1 % W qeia aues Pl s a8 82
Budgeting decision? s ;
(1) Dividend Decision IK :;: Wf”*“f ;
(2) Replacement of Asset ) S N
(3) Expansion Programme P
(4) Merger (4) faery
(5) Question not attempted (5) argeRa e
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12. For preparing Funds Flow Statement, uses of

funds includes -
(1) Decrease in Bank Balance
(2) Tax Refund
(3) Purchases of Fixed Assets
(4) Issue of Debentures
(5) Question not attempted
13. P/V Ratio is 50%, Margin of Safety is 40% and
Sales Volumes is T 1,00,000. The BEP will be -
(1) T 50,000 (2) ¥ 60,000
(3) ¥ 1,00,000 (4) 90,000
(5)  Question not attempted
14. The first ADR was created by -
(1) John Maynard
(€} J.P. Morgan
(3) Milton Friedman
(4) Avinash Dixit
(5) Question not attempted

15. Calculate the value of Coefficient of Correlation.
if Regression Coefficient of x on y is ?and y on

X is ?3
(1) +0.28 (2) +0.80
(3) +0.50 (4 -050

(5)  Question not attempted
16. Statement-I The Capital Account of the Balance
of Payments shows adjustments
under long term and short term
investments separately.

Statement-1I The current account of Balance of
Payment reflects the country’s

international trade position.
Statement-TIT Information about the Balance of
Payment is favourable or
unfavourable is obtained from the

12. 9 yare faaxo o= w99 e § | =i @
SuanT # |wEfee & -

(1) 4% 99 # &0
(2) F% T
- 3) werrd Wk &1 74
Eﬂmmﬁﬁﬂﬁﬁm
(8) arpafta we

13. &M A= 9T 50%, GRET 9Ur 40% T
famt 1,00,0002 &, @t w9 faedw fasg & —
(1) T 50,000 (2) T 60.000
(3) % 1,00,000 (4) ¥90,000
(8) smia wed
14, g9 TBLAR. oo BT GATET 4T AT |
(1) Wi w7
(2) St
(3) fyees wWieh=
(4) aifa=m i

(8) argeria we
5 af v @1 A W AT e S Td A
mmmufﬂwmw%%.ﬁ‘rw

| N ST
(1) +0.28 (2) +0.80
(3) +0.50 (4 -0.50
(6) sgaRa e

8. gy — I YaF §gad & el @
waEGE P g9 § | FED A=
dremrei N yeusTeiE At
Bl FEAT—ET TAT AT E |

Y — I A Gield & =i, @ral a9 &
Fmuem = @ fufe @t
yefdfe & #1

T — I 9] @ | & A g ®
IEe ouE Whree g @t

current account. ﬁ ‘;ﬁ -a-l :Hﬁ %?
Which of the above statements is correct? SURIE HUA Fiar e !
(1) (1), (I1) and (TIT) :‘ (1) (1), (11) 3= (11D
(2) (1) and (I11) = (2) (1) stz (1)
(3) (I) and (I1) (3) (1) afiz (1M)
(4) (IT) and (11I) (4) (1) 312 (1)
(5) Question not attempted (5) arwifta we
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17. Which of the following is incorrect about Euro

18.

Currency Market?

(1) It is an international market on which no
nation has control.

(@It is a highly competitive and sensible
market,

(3) 1t is a short-term Money Market.

(4) It is a retail market.

(5) Question not attempted

Interest earned by a depositor with a Commercial

Bank for Custodial Service -

(1) is a combination of fund and fee based gain

(2) is a Fund Based Income

(3) is a Commitment Based gain

(4) is a Fee Based Income

(5) Question not attempted

19. From the following cause of structured

disequilibrium in Balance of Payment is -
(1) Change in Exchange Rate

(2) Change in General Price Level

(3) Change in Monetary Income

(4) Change in the Pattern of Trade

(5) Question not attempted

* Who is the Fiscal agent and advisor

Government in Monetary and Financial matters?
(1) NABARD

(2) RBI

(3) LD.B.L

(4) SBI

(3) Question not attempted

17. 31 Fel @R & AR A o A | s

St

18.

19.

Terd 27

(1) 78 U% S areN & forg W) faedt 2,
@1 FrEer T8t 2|

ﬂ!;ﬁaﬂlﬁwnﬁtﬂiﬁaﬁ?m = AT

|

(3) g I HET AT |

(4) 78 &Y 4R & |

(5) Frgeiie we

e dar @ o el afvfias 99 & U

WHI X STl B Sifeia e —

(1) By ok so smnRa W & AR @

(2) Ay smenfRa any &

(3) wftagen smnRa @ @

(4) I amenfer sy @

(8) argafRa wed

Prefofan 4 @ qram wwgem § aveaes

AT BT BRI B —

(1) fafyaa av % oRads

(2) W e W # afiladE

(3) #fe® amg § uRgd=

(4) =R & ey # gRkad

(8) s weA

o1 vd Rt et 4 ween &1 ARt afed

Td UARHN BT 87

(1) smare

(2) amedrang.

(3) amd S ad.

(4) gHALE.

(5) arpeive we

21. llljf ﬁtﬁm va]iaue of C;Jefﬁcaileut ut'f d%terrfrgngﬁﬂn i? 21. 3f fwiver 7 Tquie & 76 0.64 8, 7 wEHay
.04, t 15 the value o oefhicient o : =
Cmml:::iun? B VIF H A AT EITP
(1) 0.08 (10.08
(2) 0.04 (2) 0.04
(3) 0.40 (3) 0.40
(4) 0.80 (4) 0.80
(5) Question not attempted (5) srgeiRa we
o SRS refers to process of removing or  22. U HE @I fafe Rufy @ gem m
stripping the legal status of a currency. B &1 ufte &1 s 2
(1) Digitalization : (M) Rfrfeamger
(2) Financial Inclusion Sid 2 fasha wEmE
(3) Demonetisation (3) fAgdawm
(4) Micro Finance (8) 7= fasy
(5) Question not attempted (5) seIive g
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23. Linear Programming as an Economic technique ~ 23. YWia &1a@A U& Y& aa-ile & w4 H o

which was first developed and applied by - e T g & wem A § -
(1) Prof. Fisher M. R

(2) Prof. Dantzing (2) w1, S=fom

(3) Prof. Hicks dle| @ Rew

(4) Prof. King WK (@) R

(8) Question not attempted (8) s uw

24. From the following information’s, calculate the 24 fFy=fafaa ga=meli @ ay @1 T9FT Hifog —

value of oy - x=85y
x=.85 y y= 09 X
y=.89x
ox =3 ox=3
(1) 2.61 (1) 2.61
(2) 2.55 (2) 2.55
(3) 3.07 (3) 3.07
(4) 2.67 (4) 2.67
(5) Question not attempted (5) sraie W
25. Call Money Rate is applicable for a very short  25. ¥fienafl %1 =% @g0 &9 @@ & fov
period to - frifeifas & welt § aFwaTTIg & -
(1) Commercial Banks to Industrial Bank (1) aifrfoas d=1 9 atenfirs §51 «1 afim
Advances (2) arae—d% afiF
(2) Inter Bank Advances - @) 45 § Rod &% @1 afiw
(3) Bank to Reserve Bank Advances - BRaE e 4 o s
(4) Reserve Bank to Bank Advances { ;
(5) Question not attempted (5) Srgerier e
26. Consider the following characteristics - 26. f=fafaa vl w ffar #ifvm -
(i) High risk high return opportunity (i) 9= wiifas Swa ufowe gagay
(ii) Small and medium size enterprise (ii) &9 Ud e Wy SUHE
(iii) Private equity stakes in start-ups (i) 74 SuEl ¥ ol @ifve e
(iv) Investments fund (iv) fafsramr &1
Above qualities includes in - auere o1 A A 9 ond § —
(1) Qualified Institutional Buyers () =i EETe Bl |
(2) Mutual Funds (2) g fAfdar 4§
(3) Venture Capital Funds (3) wrefye ol wl
(4) Domestic Institutional Investors (4) ayeg s At §
(5) Question not attempted (5) al_:[ﬂﬁﬂ L
27. Preliminary Expenses are - : 27. yrftqs w@d & —
(1) Long term liabilities oy (1) Sredwrei afte
(2) Short term Liabilities @) s T
(3) Fictitious Assets (3) wreafyes wafeyat
(4) Intangible Assets (4) gpl—ff Tarfert
(5) Question not attempted (8) sriRe wes

64 - =2 Page 6 of 32



of the following?

(1) Combining two securities having perfect
positive correlation in their expected returns.

(2) Combining two securities having parti
positive correlation in their expected returns

(3) Combining two securities having partially?];;

negative correlation in their expected returns.
(4) Combining two securities having perfect
negative correlation in their expected returns.
(5) Question not attempted
- Match the various credit agencies in List-I with
their ownership in List-II as follows and suggest
the correct code -
List-I
(a) Credit Rating and Information Services of
India Lud.
(b) Investment Information and Credit Rating
Agency of India Ld.
(c) Credit Analysis and Research Ltd.
List-IT

(i) ICICI

(ii) IDBI

(iii) IFCI 4
(1) a-(ii), b-(iii), c-(i) ap

(2) a-(iii), b-(ii), c-(i)

(3) a-(1), b-(iii), c-(ii)

(4) a-(i), b-(ii), c-(iii)

(5) Question not attempted

Which of the following statements are false?

Indicate the correct code -

(i) Grey Market is a market for dealing in listed
securities.

(i1) OTCEI is mainly intended for big investors.

(iii) Insider Trading is legally permitted in the
Capital Market.

(iv) The device adopted to make profit out of the

differences in prices of a security in two

different markets is called “Arbitrage”™.

(1) (i), (ii) and (iv)

(2) (ii), (iii) and (iv)

{5

28. Risk of Portfolio can be minimised by whichone  28. ts uidwiferar &1 wifaw &1 fr=rifea & @

foras g1 =gaw far s wear 27

() <1 *=0r wferaferat @ wftasor e wenf¥m
T ¥ Qof WERTHS He—Hay B |

(2) <1 o wftraforat @1 witwsor e genf3m
vt ® ¥ wWeNeE We—wHad 8 |

(3) &1 T uftrferat &1 witwsr e wenfim
yemat # Sifie TeRee WE—wad 2 |

(4) =1 U sl w1 Wi R e
gral § qf GRS He-Hay B |

(5) argafa weA

-1 % R afreveil & -1 # forfee

9@ @ime ¥ e #ifrg o wd 5 @

e Py —
-1
(a) 9IRGB BT T queT ar o
(b) wva @ A gE qur sfse W
FfiEor o
(c) e Rvemor o wiw f,

HA-11
(i) ame #rard fad,
(ii) g S A A,
(iii) 3IT8.9F. 1.3
(1) a-(ii), b-(iii), e~(i)
(2) a-(iii), b-(ii), ¢-(i)
(3) a-(i). b-(iii), c~(ii)
(4) a-(i), b-(ii), c-(iii)
(5) srpaRa we
Frafofas 4 9 SR Tus s 2 w9 32
a5y —
()% TR U o aor 2 el geieg
afergferal &1 sFe g 2
(ii) A g, z@ w1 ¥ 92 et @
fore = T
(iii) G AR A SFWENT AUR B BEL
AT U #
(iv) 98 T o e & o |
HAT—HAT qTARI A o & I § G
T AT B B ST WTaT § SR
HEaal &
(1) (i), (ii) 3 (iv)
(2) (ii), (iii) 3 (iv)

(3) (i), (ii) and (iii) (3) (i), (ii) S (iii)

(4) (i), (i), (iii) and (iv) (@) (i), (i), (iii) 3 (iv)

(5) Question not attempted (8) srgaia wea
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31. From the following which statement is incorrect? 3. Fp=faifas § & @9 $99 98 a8 87

(1) The flow of foreign direct investment occurs (1) weue fAgel e &1 vae Euiee Aaw &
through Redfield Investment. Heoq H B E |
(2) FDI may be undertaken by individuals @ Ly | (2) ThSamd. =fedl & w0 amawiT
well as business entities. ki et g Nt S o waan 2
(3) FDI is the outcome of the mutual interest of (3) ur.FNans. RIS BHl iR HoEam ol
international firms and host countries. & gnfe fBa & ufoms )
(4) FDI is the ownership and control of foreign @) vsdiong. fagsh wlml & w@fa o
assets. fA=or &
(5) Question not attempted (8) reIiNG 9
32. Match the following, according to year of 32 @mElasa & a4 & srquw, Fr=fafea &1 fam
Implementation - = -
List-I List-IT - -1
- (i) s A ooy, (a) 2016
(i) RTGS {a) 2016 o
(i) NEFT  (b) 2010 (if) T T2 (b) 2010
Gv)UPL  (d)2005 (iv) A3, (d) 2005
Code - owe -
(1) (i)-c, (i1)-d, (ii1)-b, (iv)-a i (1) (i)-c, (ii)-d, (iii)-b, (iv)-a
(2) (i)-d, (ii)-a, (iii)-c, (iv)-b Crhes (2) (i)-d., (ii)-a, (iii)-c, (iv)-b
(3) (i)-a, (ii)-b, (iii)-c, (iv)-d y (3) (1)-a, (ii)-b, (iii)-c, (iv)-d
(4) (i)-b, (ii)-c. (iii)-a, (iv)-d (4) (i)-b, (ii)-c, (iii)-a. (iv)-d
(5) Question not attempted (5) argeia wed
33. Capital Budgeting deals with - 33. Gt qore wafa & & -
(1) Long term decisions (1) Srefareia ok
(2) Short term decisions (2) st Aot
(3) Both (1) and (2) (3) g1 (1) 3R (2)
(4) Working capital decisions (4) Frisia Toft foty
(5) Question not attempted (5) srgaia weA
34. Examine the following statements and choose 34 Fr=fefaa o+l v Rar i va 9@ ow
the correct answer - T HYF BT —

Statement-I: FII's do not invest in Unlisted
Securities, they participate only SY-1 U308 8. IHEE ufngoat | Faw

through Stock Exchanges. A8l Tl 2| 98 dae wh [Aufr &
Statement-11: FII's cannot invest at the time HEGH | °IT ofdl £
initial allotment. g -1 U532 T8, URMNE Jaed & 96y

(1) Statement [ is wrong but the statement IT sy ; frarer =18 @w wHd 2

correct
(2) Both statements are wrong M ::,? i qﬁ% Hert MW 8
(3) Both statements are correct @) . PO B
(4) Statement I is correct but the statement II is () =t e Wl &

wrong (4) wor 168 W B 1 Tl €
(5) Question not attempted (5) "”T:'ﬁﬂ 0¥
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35. What should be provided to receive payments 35 R & a1EX W WA (QUHESER @ AR

from outside India (in US Dollars or Euro etc.)? #) "I S B a1 SUelEl W1 O AifRy?
(1) RTGS (1) s o,
(2) SWIFT (2) feae
(3) EFT (3) Euwd
(4) NEFT g () FETH A
(5) Question not attempted ‘;Hftﬁl ageIRa we _
36. The Regulatory Authority of Regional Rural &y vt g1 &1 Fame wiRs & —
ﬁ;*ﬂsks iﬂ;}ﬂ (1) T DR
tate Government
(2) Sponsor Bank (@) e e
(3) Central Government (3) B WHR
(4) NABARD (4) =rars
(5) Question not attempted (5) s W
37. If the population is heterogeneous, which one of  37. af S fawnfon &, & FA=fefaa 5 9
the following probability sampling method is @I U wareggdn wiawst uenel sifts vy
more appropriate? grfi?
(1) Double Sampling (1) <red wftraed yomeht
(2) Quota Sampling (2) ararer wferest woedt
(3) Sequential Sampling (3) wargeR uftesl goned
(4) Stratified Random Sampling (4) wia wiaes qomed
(5) Question not attempted (5) sraiRe wed
38. Direct supervision over depositories and mutual | 'ﬁw a3 grewfe Al & aeer e
funds are undertaken by - vl § —
(1) NBFC'S _ (1) g8 0% 4,
(2) RBI1 (2) ame 4t ams.
(3) SEBI (3) Y
(4) All of the above (4) Sufa ot
{5) Question not attempted (5) apeilRe wes
39. Which of the following methods focuses on 39 ajwmnfRal & wwer @ Wou & AfEHTH HEA
maximization of wealth of Shareholders? o= g?ﬂ fra aedie grr enm afea B
(1) Accounting Rate of Return ikl
(2) Internal Rfm of Return sl
(2) am=aRe vy <
(3) Profitability Index (3) SpreTirEar 'ﬁ?ﬁb—ﬁﬁ
(4) Payback period (4) g srafe
(5) Question not attempted (5) argRe weA
40. |p cash flow statement, which of the following is  40. Jie ware faawor § Fr=fafas § 9 9 A=
classified as Financing activity? 1159 forment A efia R &2
(1) Sale of Investment Eﬂ:ﬁm fafam &1 fwa
(2) Loans to Suppliers (2) yfeiaratail &1 o
(3) Sale of Stock (3) ¥ &) faal
(4) Dividend Distribution (4) arren e
(5) Question not attempted (8) argeife weA
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41. Financial Intermediaries means link between -

(1) Savers and Investors

(2) Deposit holders and Banks

(3) Investors and Financial Service Industry
(4) Deposit holders and creditors

(5) Question not attempted

= Which one of the following is not the objective

of UTI?

(1) To give everyone a chance to indirectly own
shares and securities in a large number of
selected companies.

(2) To mobilise savings of the community by
offering savers the triple benefits of Safety,
Liquidity and Profitability of investments.

(3) To maximise mobilisation of People’s
savings by making insurance linked savings
adequately attractive.

L

¥

it
(8) To channelize the pooled savings mhf

Productive outlets.
(5) Question not attempted

* Dividend Distribution Tax is payable by -

(1) Shareholders to Government

(2) Shareholders to Company

(3) Company to Government

(4) Holding Company to Subsidiary Company
(5) Question not attempted

* Where is the Headquarter of the World Trade

Organisation situated?

(1) India

(2) Geneva

(3) New York

(4) Tokyo

(5) Question not attempted

44,

e

il

& 7 B
T B

(1) T9a Fall 3 fafmes!

(2) w1 Feitedl o %

(3) et s fadia dar sam

(4) w1 el o oFeRT

(5) srgaiRa wea

. Priifte ¥ @ g B Ster 8 &

M &8 wem # giver sl & i e
aferforat & swener vy @ forr o &)
HTER S|

(2) gmeatel ®1 Fawl @ geen, o T
ameEEsa $ ey sl ! duew
R & FET B e |

(3) &1 wag Fadl & Taia WY 9 el
TN e FEd D WUEN B SfrEas
HAT |

(4) tafEa g9ai &1 Sed GrRET # ST |

(5) srgale we

- I RERer s @1 quaE e gwr B

T 87

(1) STemd ERT WRER B

(2) 3P g1 FEAT B

(3) T ERT AR B

(@) BfesT Fh g1 HEEE HA B
(8) s we

fava amuR Hed &1 yEen wEl Reg 87
(1) w=a

(2) forar

(3) =puitas

(4) St

(5) srqafRa we
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45. Maich the various Stock Exchanges in List-1 45 3l & Rf= wie wageal ©F @11 4
with the years of their establishment in List-11 as forftan wo@ e & ai 9 e #fg e

follows and suggest the correct code - WEl &e &1 999 By —
List 1 List-1T -1 -1
(Stock Exchanges) (Establishment Year) (e m;aq) 1 g(;q‘rqq'[ a)
Y Wi Tadda ((LUHE) (i) 1875
(a) National Stock Exchange (NSE) (i) 1875 . ::; (R R i qﬁgw } ::J}] 1992
(b) MCX Stock Exchange (i) 1992 R4z 2 e
(MCX.SX) © (21“21 $ qq;ﬁqj%ﬁwé} (iiii) 2000
(c) Bombay Stock Exchange (BSE) (iii) 2000 d) FTRTIRE W Q?FH‘?N‘F " s
(d) Interconnected Stock Exchange (iv) 2003 () i v £ T (1v)
of India (ISEI) B SIS (o1 URLE.ME.)
(1) a-(ii), (i) c-(iv). d-(i) (1) a-(i), b-(iii) e~(iv), d-(1)
ﬂ]‘ H-{ll]. b*{i\":l, C*[i}. d-{ii” {2} H.'“i}. b-“\"}, ﬂ-{i._}- d-(lll]
(3) a-(iii), b-(ii). c-(iv), d-(i) (3) a-(iii), b-(ii), c-(iv), d-(i)
(8) a-(3), b-(iii), ¢(ii), d-(iv) ) a-(i), b-(ii), c-(ii), d-(iv)
(5) Question not attempted (5) argeRe wed
46. Marginal of Safety is calculated as - 46. {Rer—0rwT Y O @Y et 8 —
Fined cost Fixed cost
M P/V Ratio 1 P/V Ratio
@ [Imll;l;h:ﬁun (2 L-un::l:::lun
Contribution Contribution
() P/V Ratio 3 P/V Ratio
(4) ,,;,,m:;uu @ E':'Jm ::uu
(5) Question not attempted =M S (5) arERe v

47. “CARAMEL" Technique is base of credit rating wise Reo qur oy ffds (@av) g i
to Banks and Financial Institutions by Credit e ol Tyt 91 #fee Yo 39 o1 IR
Analysis and Research Ltd. (CARE), which "Bt Tede &, Rt il & -

includes -

(i) Capital Adequacy [ﬂ' ot AT
(ii) Reinsurance (i) gt
(iii) Assets Quality (iii) Freafey Tvrae
(iv) Management Evaluation (iv) HEE Hearh=
(v) Earning (v) 319
(vi) Liquidity (vi) Tl
(1) (i), (i1i), (v), (vi) (1) (i), (i), (v), (vi)
(2) (i), (ii), (iii), (iv), (v), (vi) (2) (i), (i1), (iii), (iv), (v), (vi)
(3) (i), (i), (iid), (v), (vi) (3) (i, (i), (iii), (v), (vi)
(4) (i), (i), (iv), (vi) (4) (i), (ii), (iv), (vi)
(5) Question not attempted (5) srgeia v
48. If a Chi-square test is to be performed on a 48 afd aefHaTn micisT @l 3 — dfdwai vd 4
contingency table with 3 row and 4 columns, ¥ — T T W FRE-EGY UdE] & 2
how many degrees of freedom should be used? 5 b W= 91 W S &1 IuAiT wwEr gifee?
(M 8 @ 9 : () 8 (2 9
3 6 (4 12 3) 6 @ 12
(5)  Question not attempted (6) arERa W
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48. The power of the statistical hypothesis testing is ~ 49- Hiftareh urmeg1 wEor & wfe &1 s9f

denoted by - e 8 -
() B (beta) (1) drer ()
(@) a (alpha) @) s ()
(3) 1- t (alpha) yrg ) 1 (e
(4) 1 - B(beta) r @ 1 - B (@)
(5) Question not attempied - (5) qﬂ'ﬂﬁﬁ LES
50. Which one of the following is not the fund based  50. F=fofm & afifas ¥ @1 Far B
husincss of Commercial Banks? IR e el 87
(1) RTGS/NEFT transactions (1) SRAMH. / TIEIBLL. AT
(2) Issuance Of Letter OFf Credits (2) ¥ o= 1 Frfa
(3) Acceptance of deposits (3) STARI T RBR F
(4) Overdraft facility (4) siferfaay gfaer
(5) Question no! attempted (5) areia wed
51. Which body administers the TRIPS (Trade- 51. #9wr fFom ffw (@fes wuer slReR @
Related Aspects of Intellectual Property Rights) AR FEfd Ugq) usY B gawe B
agreement” pe
(1) United Nations Conference on Trade and
Development (1) =R ik e w ﬂ-g?ﬁ S FER
(2) World Trade Organization Lt (2) Rve s wren
(3) United Nations Organization :(3) Hgw W WS
(4) World Bank (4) fawg ¥
(5) Question not attempted () srgeile e
52. The powers of ‘Controller of Capital Issues’ of 52 wg & Yot frfww e & sfeR s
India is now shifted to - svaiang & 48 T -
(1) SEBI () ¥ =
(2) Ministry of Finance (2) R w3y 1
(3) Ministry of Corporate Affairs (3) s Wl & HAer &
4) AMFI (4) TunUmang, &7
(5) Question not attempted (5) argmiRta weA
53. Select the correct statement - 53. WE HYA B TIT PN —
(1) Issue of Shares is an application of fund (1) afeif =1 Pyt # &7 Sy 2

(2) Purchase of stock in trade is an applicatio Uik (2) R § W B F9 6 B SuhnT &
e ' . (3) e @ YA S @ Ei #

(3) Payment of Dividend is a source of fund ‘ &
(4) Sale of Fixed Assets is a source of fund (4) wrdt weafedi o1 fawa #w &1 i #

(5) Question not attempted (8) sreifa W
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54. Statement T -  International finance is 5%
concerned with exchange rate of
currencies.

Statement II - International finance is
concerned with foreign direct
investment.

Statement III -  International finance M. 45

concerned  with  Monet f
System of the World.

From the above statements which statement is

correct?

(1) Tand 111

(2) Tand IT

(3) 11 only

(4) 1, I and TIT

(5) Question not attempted

55. Foreign Currency Exchange Rate Risk can be 55

hedged in :

(1) Option Market

(2) Future Market

(3) Money Market

(4) All of the above

(5) Question not attempted

56. From the following which one is not an item gf, ., .56

E ¥

Current Account?

(1) Import and Export of Goods & Services

(2) Return on Investment

(3) Long-term Investments

(4) Government Expenditure

(5) Question not attempted

57. Assertion (A) : Investors in Capital Market seen  57-

to be inclined for fixed Income
Securities,

Reason (R) : Debt instruments now have active
Secondary Market.

(1) Assertion (A) is not correct but Reason (R) is

correct

(2) Assertion (A) is correct but Reason (R) is not
correct

(3) Assertion (A) and Reason (R) both .
correct and (R) is correct explanation of Eﬁ

(4) Assertion (A) and Reason (R) both s
correct but (R) is not correct explanation of
(A)

(5) Question not attempted

Fue | — FeEy @ @ e e @
fafm 2w 9 &)

T 11— i e & e faed o
foraer & #

o Il — SRy fae & wa A &
Hifge oo 9 8

YRE HYH H § AT DY TE 8?

(1) 13z 1

(213w 1

(3) waa 1

() 1, mafrm

15) arraifa weA

faash 7er fafm gv SRem | g9 & on

el & —

(1) faws gromR

(2) w1y arA™

(3) Har AR

(4) TmiEa Wl

(8) it uw

?ﬁﬁ-ﬁa G 1 R L o i

2

(1) Fgait v Harl 1 srara—AaiE

(2) fRfrET w gfes

(3) drefwmrea AR

(4) FvEHR) =

(5) 3o ueA

FfEYuT (A): Ol graR 9 AR fRer
uferiforal 9 goE @ wdm
i

®RY (R): 01 wiengferat & aewe § Wik
feds awr 21

(1) aifiverer (A) Tera & g @R (R) e &

(2) Iifirmer (A) el & Uve FROT (R) T &

(3) fpest (A) Td BN (R) 24T W8 § 3R

(R), (A) T WE! ==y &

(4) IfHYT (A) T9 HRY (R) a1 81 & 3R

(R). (A) # T @ =8 2

(5) arerie wes
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58. “VSAT" technology was first followed for 58.
online trading by —
(1) ISE (2) OTCEI
(3) NSE (4) BSE
(5)  Question not attempted

59. Which of the following is not a development
banking institution?
(1) EXIM Bank
(2) IDBI
(3) 1CICT
(4) IFC1
(8) Question not attempted

A researcher wants to test the significance of the
difference between the average performance of
the two small sized samples when the
information of the population standard deviation
is not available, which one of the following
hypothesis-testing is suitably used?

(1) Z - test

(2) Chi-square test

(3) F - test

(4) t - test

(5) Question not attempted

In a Linear Equation : y = a + bx, here “a" refers

(1) y- Independent Variable
62.

50.

i .

¥

B1. 61.

(2) y- Dependant Variable
(3) y- Slope

(4) y- Intercept

(5) Question not attempted

Find out ‘Unknown Rank difference’ from the
following data -

Serial Number: 1234567890 10

Rank Differences (D): -4 -2 43 -1042 743 -2
+3

mn -2 2 +2

3) 43 4 4

(5)  Question not attempted

- Which one of the following options deals with
the process of making estimates, predictions and

decisions?
¥

63.

(1) Descriptive Statistics
(2) Inferential Statistics
(3) Probability Theory

(4) None of the above

(5) Question not attempted

Afergs sREN & fou firaed defe
Hdye g o —

(1) sEoad A adiiang A
(3) vAavad qivad |

(5) srgEia we

gwrﬁama # 9 ® e dfEer gwen 58
(1) ofiem oF

(2) apg. S danE,

(3) @i+ and Whang.

(4) 3. v A ang,

(5) Fwiia we

(2)
)

. U STl 91 o s @ wfoewl @ sita

Fremes @ da @ o @ AgTa B TR S
RN &, Tald T qeE [aer @) g
SuctEr Ag 2 aa Prafafee 4 @ few
Hepeq—OXIET T SULET FAT IYGH ST
(1) Srs—Eror

(2) FrE—af g

(3) U—TfEor

(4) E—gfterm

(5) saRe weA

I FHHIT - y =a+bx #H “a" TE T G
HAT 87

(1) arg—e= =%

(2) arg—anfég ==

(3) arg — g

(4) arg — arFrEvs

(5) armfRa wea

=1 sl @ Werar ¥ 'aga dife s
ST DI |

WH HET : 12345678910

PIfe I (D) 4-243-10+427+43-243
M -2 2 +2

(3) +3 4 4

(8) R weA

s, wfawrarfra ga Fotal &1 o @ forg
Frafaftas # 9 S fAee Hew waar 87
(1) Ravvners wifta

(2) s wiftara

(3) wifirmar fagra

(4) IuRtaT # | @8 Tl

(5) argafta weA
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B4. Volatility of Capital Flow is caused mainly by

investment by -

(1) Foreign Institutional Investors (Flls)
(2) Global Depository Receipt (GDR)
{3) American Depository Receipt (ADR)
(4) Foreign Direct Investment (FDI)

(5) Question not attempted

Which one exchange rate is determined by the
Government?

(1) Neither Flexible nor Fixed Exchange Rate
(2) Flexible and Fixed Exchange Rate both

(3) Flexible Exchange Rate

(4) Fixed Exchange Rate

(5) Question not attempted

86. Regression Coefficient (y on x) and (x on y) are

calculated respectively by the student, which is

1.4 and 0.8,

(1) Coefficient of regression (v on x) is correct
and (x on y) is incorrect

(2) Coefficient of regression ( y on x) is
incorrect and (x on y) is correct

(3) Both regression Coefficient (y on x) and (
on y) is incorrect

(4) Both regression Coefficient (y on x) and (x
on f} are correct

(5} Question not attempted

- Three Independent critics reviews in favour of a
book in the ratio 3:2, 4:3 and 2:3. What is the
Probability that majority reviews will be

favourable?
Z4 £ 1
(1) ﬁ {2) ?.1}5
(3) ere &) ==

(5)  Question not attempted
Among the following, choose the most suitable

64.

l_:‘l-

ol ware &1 afeeman T H &
gﬁﬂa’iwﬁ?ﬁ%lﬁ@

(1) faeeh wvema [aws (Flls)

(2) afYas feuifered) wie (GDR)

(3) sfes feutfred s (ADR)

(4) wee fagsh fasr (FDD)

(5) argeiive weA

Wﬂa_ EWT Sy A g e PuiRa &5 o
?

(1) 71 a1 dreefia o =1 & fer faftmg 2=
(2) dreeirer si fer fAafem gv <@

(3) e fafma =

(4) Rex faffmg ==

(8) areiive west

- e el g aE @ vew W O e @ 918

Wellq 0 TOT] ® AH HEE 1.4 SR 0.8 FE

f5 &

(1) &g &1 gas ox W Onie WEl & uveg
TaE 1 918 W Ted 2

(2) 3¢ &1 geE W FAwTEE UG Ted g
Y] UaE @1 9% W 6El

(3) A€ &1 Ve UX GUT Y @ 918 W) Sl
PRICHEE R RIC I i

(4) 91 ¥ vEH WX aUT UFE & Aq18 R
WA VIS WE &

(8) arEla oo

- UF gEae H M w@aA oeEE U H

et sque 4 R & € 3:2, 4.3 e
2:3| 4g7a o H fER 9 w7 wfiea 87
24

46
(1) E (2) ﬁ
{3); ‘= (4) 7%
(5) 3wl uwA

- FrefafEd F @ waiRe sedw e &1 9gA

test that can be applied to examine the influence, X Wl & = R UFH FRE & GHEG B
of one factor on different groups - = e v @ fore waes fasar o wdar 87
(1) t-test :;; ::lg— TNy
(2) Z-test — T
(3) Chi-square test (3) 7E — TR T
(4) v — e
(4) F-test ) il
(5) Question not attempted 3
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69. ATM means -

.

(1) Automated Teller Machine
(2) Authorised Teller Machine
(3) Automated Time Machine
(4) Authorised Time Machine

(8) Questiom not attempted
‘W}E&ﬁmms loan to Commercial Banks and
charges interest on it, it is called - .

(1) Bank Rate

(2) Reverse Repo Rate

(3) Sweep Stack Rate

(4) Interest Rate

(5) Question not attempted

In India, NIFTY and SENSEX are calculated on
the basis of -

(1) Market Capitalisation

(2) Paid up Capital

(3) Free-float Market Capitalisation

(4) Authorised Share Capital

(5) W nol attempted
72. If IRR* ject is equal to opportunity cost of
capitah h -

(1) NPV will be positive

(2) Project has no cash flow
(3) NPV will be zero

(4) Project should be repeated
(5) Question not attempted

* Identify the Quantitative Credit Control methods

among the following -

(i) Bank rale

(ii) Credit Rationing

(iii) Open Market Operation
(iv) Variable Reserve Ratio
(v) Selective Credit Control

(¥i) Liquidity Ratio
(M ii1) and (iv)
(2) (). (11). (v) and (vi)

(3) (ii), tiii), (iv) and (v)
(4) (i), (i), (iv) and (vi)
(5) Question not attempted

64 - =2

=

69,

70.

7.

72,

A | A § -

(1) wa=nfora 2o #9m

(2) sifrpa 2o wei

(3) vamnfora wwa #9i=

(4) sty wwa e

(8) araRa uwA

wia Rad o ife giea o 491 $1 =9
a1 8 oY 99 W @S ave &val 8 o 99
ded & — -

(1) &% &=

(2) Raw o1 =%

(3) = #¥& T2

(4) =ma 82

(5) argaite wes

wa #, Aot s 9 3 7oA R R
uy 2reft 87

(1) areme guiteo

(2) war gt

(3) Haw @i ST gofideoT

(8) mferger 319 i)

(5) appeifer wes

gfe fell o &) s IR doh @
HEET AT B AE B, A —

(1) v i ). eFrewe Bl

(2) uf¥arsrn | Vas yars T8 s

(3) v di AL o= B

(4) uf¥arsr &1 SrEr o afEe

(5) aFgeRa wea

- fF=feittae & @ oRerers wra Fagso ggfaa

w1 gEEE #Hifon -
(i) 4% =

(i) v o

(i) G AR @ B
(iv) gacTeie s s
(v) TETHS g s
(vi) GENTF eIl FUE
(1) (i), (i), (iii) 3R (iv)
(2) (i), (ii). (v) 3% (vi)

(3) (i), (iii), (iv) R (v)
(@) (i), (iii), (iv) 3R (vi)

(5) srgeiRe wed
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T4. Which Bank merged with IDBI Lid. on 3"
October, 20067
(1) Barclays Bank of UK.
(2) United Western Bank Lid.
(3) City Bank of New York .
(4) Deustsche Bank A.G.
(5) Question not attempted
75. Operating cycle of a firm can be shortened by -
(1) Increasing working in progress period
(2) Increasing credit period 1o customer
(3) Increasing stock of new materials
(4) Increasing credit period from suppliers

74. 3 ygeay, 2006 F fHa §F & S A
fofaes & fasy & war?
(1) arperet &% aifs 7.3,
(2) Fges aved 49 fafis
v (3) Y &% affs e
(4) grra d% T,
(5) sraRe geA
75. fdl v wH & uftEner 9% & Bier
Hehdl & —
(1) wuror Haf &1 g3
(2) e @Y Fevr Iaf @@
(3) @ee) Hrel &1 Wi dgil
(4) ER A AR B 9@

-
-

(5) Question not attempted (8) st we .
76. | ead Bunk Scheme was started on the 76 &fig &% womell. ... @ FHGIRET 07 9%
recommendations of - @1 e o
(1) Malhotra Committee (1) wreeran wfafy
(2) Nariman Committee (2) =¥ wfafa
(3) Raja Chelliah Committee (3) wreT et \fafy
(4) Kelkar Committee (4) Herme vy
(5) Question not attempted g (5) sgiRa we

77. Which of the following are two basic concepts
Financial Management?
(1) Receipts und Payment
(2) Costs and Expenses
(3) Risk and Return
(4) Debit and Credit
(5) Question not attempted
78. “Bird in Hand™ argument is given by -
(1) M.M. Model
(2) Walter's Model
(3) Gordon™s Model
(4) Residuals Theory
(5) Question not attempted
79. Which of the following is not a function of
Finance Manager?
(1) Manoeuvring the share price i
(2) Maintaining balance between Risk an
Return
(3) Procurement of Fund
(4) Allocation of Fund

(8) Question not attempted

7. fyefoRed 3 @ e waa @ @ o
ATROT & —
(1) wifierii vd A
(2) &rTel ud e
(3) wftas va wferpet
(@) =7 vE o (e v BR)
(5) argea W

79. fo= A @ @ w1 R yaws 1 a8 e
27

(1) 39 & i &1 FASA B

(2) Siiffas qd amTe & 7 e aard A
(3) =g fAfg

(4) fAfey &1 smaes

(5) araRa e

64 - =2
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80. From the following which statement is correct?

(1) Balance of Trade = Total Export Value +
Total Import Value

(2) Unfavourable Balance of Trade= Total
Export Value <Total Import Value

(3) Equilibrium Balance of Trade = Total Export
Value = Total Import Value

(4) Favourable Balance of Trade = Total Export
Value >Total Import Value

(5) Question not attempted

81. Match the following of List-1 with List-Il and
mndicate the code of correct matching -
List-1
(Anchor Bank)
(a) Punjaub National Bank
(b) Bank of Baroda
(¢) Union Bank of India
(d) Indian Bank
List-11
(Banks merged with Anchor Bank)
(i) Oriental Bank of Commerce
(ii) Dena Bank
(iii) Andhra Bank
(iv) Allahabad Bank
(1) a-(iii), b-(iv), c-(1), d-(ii)
(2) a-(ii), b-(iii), c-(iv), d-(i)
(3) a-(iv), b-(i), e=(ii), d-(iii)
(4) a-(i), b-{ii), c- (iii), d-(iv)
(5) Question not attempted
82. When a customer, by a letter has advised the
bank not to honour/pay a particular cheque, such
letter is called -
(1) Remittance Advise Letter
(2) Mandate
(3) Garnishee Letter
(4) Cancellation Letter
(5) Question not attempted
83. Which is not 1 principle of ‘Queuving Theory' out
of the following?
(1) To decrease waiting time
(2) To increase waiting time
(3) To reduce ideal time of service station
(4) To decrease cost during waiting time
(5) Question not attempied

1%
et |

8. Frmifarfeaa # 1 PIae wue wWE T 87

M zmr wgem = &0 Fafs 501 + 5@
S g

(2) yftrger =R wgE = @A i g9 <
A AT T

:®) wp e wew = we Pl ge =
B AT

) seme R wE = we Pt 5 >
Bl I He

(8) sraRa weA

8. w1 w=l & W g1 gafem a aie

w8 7 7 fifen o —

-1
(G 43)
(a) TWE IS I
(b) 4% 35 gl
(c) AT &% 3its gfew
(d) 3iEa 4

A1
- (Ga= % ¥ facis ¥9)
(i) #Rvea 4% e Sy
g u (i) BT 4

":j' F{iii}aﬂﬂ‘r EEg
(iv) SeTETETS d6

(1) a-(iii), b-(iv), c-(1), d-(ii)
(2) a-(ii), b-(iii), c=(iv), d-(i)
(3) a-(iv), b-(i). c-(ii), d-(iii)
(4) a-(1), b-(i1), ¢- (iii), d=(iv)
(5) aFaflRe uws
82. uf% wiew 71 4% &1 s Y A% # aER
T U IHS WPIAH A dE @ A0 95 gRI
Hera fBar 8, o aw u= Fwamwr & —
(1) so1 &1 U=
(2) siferaer
(3) et o=
(4) FrREfNSwT 73
(5) sk ueA
83. Frifva A & S ‘Bar e @ g

g u ARl 87
Eﬁmmm i el e

(2) wilten wwu 4 afg @ :
(3) Far F7w W AYYH WA DI FH B!
(4) yeften WA 9 waEfaa @ $8 S

(5) argeiiee e

64-2

Page 18 of 32



e e .

L e

R —

84. Which one of the following does not constitute a
standalone risk analysis?
(1) Break-even Analysis
(2) Scenario Analysis
(3) Simulation Analysis
(4) Corporate Risk Analysis
(8) Question not attempted
B85. What is the key role of Financial Regulators in
protecting investors in the Secunty Market?
(1) Ensuring the success of every investment
(2) Detecting and  preventing  fraudulent
activities
(3) Guaranteeing investment returns
(4) Maximizing Investor’s profits
(5) Question not attempted
B6. Consider the following statistical tests -
(i) F-test
(i) t-test
(iii) Z-test
(iv) Chi-square test
Which of these are parametric tests?
(1) (i), (iii) and (iv)
(2) (i), (ii) and (iii)
(3) (i), (iii) and (iv)
(4) (i), (ii) and (iv)
(5) Question not attempted
B7. A speaks truth in 60% of Cases and B in 70% of
Cases. In what percentage of Cases are they
likely to Contradict each other in a stating same

fact?
(1) 28% (2) 18%
(3) 46% (4} 10%

(8)  Question not attempted
88. First established Credit Rating Institution of
India is -
(1) Credit Rating Information Services of India
Lid.
(2) Credit Analysis and Research Limited
(3) Credit Rating Agencies of India Lid.
(4) Duff and Phelps Credit Rating of India Ltd.
(5) Question not attempted
89. In which year India became the member of

WTO?
(1) 1995 (2) 1990
(3 2001 (4) 1991

(5)  Question not attempted

84. umpe oifem Rvawo frafafag % 9§ @
T8 87
() wn—fa=de faveyy
(2) yRgwa Rvem
(3) YT favergar
(4) Fy it faeemon
2 "m@mmﬁﬁmﬁ w8 e A fd
AR T
ams @1 wra g 1 27
(1) ud® Faw @ awaar e s
(2) sueget wffafeai &1 oo @A ok o=

(3) Faw Rea @ TR
(4) Fawst & e B afdEmas s
(5) argaRe ue

86. fp=iferfiae wifterd gl wv e & —
(1) UH—Te o]
(i) 1T
(iii) SrE—enT
(iv) PTE—TFaan Weqvy
S H | P grEfes gdeer 87
(1) (i), (iii) 3 (iv)
(2) (i), (ii) =T (i)

o o B ), (i) 3R (iv)

LA E () (i), (i) 3R Giv)

(5) areiRE we

87. 31 60% AT § W A1l & iR T 70% Al
H Tey S 81 v 8 oen @ e § e

wfererer W1 # U U @1 AR @R Had €7

(1) 28% (2) 18%
(3) 46% (4) 10%
(5) arERe wes

88. W # wew wenfie wRT AidHET Hey g —
(1) ®fge Y&n svwiviem wfiey i sfem
far

(2) pfee vnfafaw e REd fa

(3) sfveas wige W Wi o

(4) =% U9 G wfee e g givear fa

(5) arefea wes
S;mﬁmﬂﬂﬂmﬁ'ﬁrﬂmﬁfﬂﬂﬁ
: CEIfd

*{11 1995 (2) 1990
(3) 2001 (4) 1991
(5) sgEiRe we
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#0. The Capital Account in Balance of Paymentdoes  90. wrar1 e & qoll @ o e =6 & —

B1.

82,

93.

94.

not inclode -

(1) Banking Capital

(2) External Assistance

(3) Foreign Investment

(4) Invisible Exports

(3) Question not attempted

The approach to the modernisation of payment
and settlement system in India does not include -
(1) Development

(2) Integration

(3) Consolidation

(4) Diversification

(5) Question not attempted

A Project has a Profitability Index of 1.30, what

does it means?

(1) That payback period is more than one year

(2) That the Project returns is T 1.30 forevery T 1
invested in project

(3) That NPU is less than zero

(4) That IRR is 1.30 times of the Hurdle Rate

(5) Question not attempted

-HRA H

(1) & guft

(2) ared wEREr

(3) faaeh Fraw

(4) wrgvn Fafa

(5) argailRa wed

IR Fuem e @

frEETer & gftewor § mive a8 & -
(1) fawrH

(2) e

(3) T

(4) fafaferor
(8) argafia weA

92. & uRarT 1 amEET gasiE 1,30 # |

SHST @1 e &7

() grfarm safy 1 ad & afs §

@ wRar 4 fAffe ow
1.30% arof gt #

(3) 95 a9 Y I § B R

(4) 3T SR FFH TAT &9 (Hurdle Rate)
130 A 2

(5) sFgaiia we

IR

The projected cash operating expenses of a firm 93 a4 2022 & fow e wd &1 sgwfm =

for the year 2022 are estimated at ¥7,30,000.
The firm has quick assets amounting to ¥ 80,000.
Calculate Defensive Internal Ratio.

(1) 45 days

(2) 40 days

(3) 365 days

(4) 30 days

(5) Question not attempted

“BOLT" System in the Indian Securities Market .

is related to -

(1) Over the Counter Exchange of India
(2) Multi Commodity Stock Exchange
(3) Bombay Stock Exchange

(4) National Stock Exchange

(5) Question not attempted

uREre @ 7,30,0003 8F &1 A €1 B
@ U achle Wi 80,0008 @ ¥ | EE
FNTel JAUTE DY AT BN |
(1) 45 fe=
(2) 40 f&=
(3) 365 fa=
(4) 30 fa=

(5) argeila weA

9. yrefrm uftmfer o F Caee” ool feew

waft 27

¢ (1) aiveR & wrew vaEde aite shear

(2) ag—a%g IR AR
(3) a4 ¥R AR
(4) 5T IR TR
(8) araifta ueA
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95. For the purpose of extending rural banking and

a7.

agro finance, the NABARD -

(1) refinances the banks extending rural finance.
(2) direct lends and monitors the rural bormowe =

(3) directly finances the rural borrowers and gets 1.

refinance from Government,

(4) refinances the rural borrowers obtaining

credit from Banks.
(5) Question not attempted -

- Fisher ldeal Index is -

(M [zr,00 o P10y
EPoQn  EPgy

@ frriq, _ 10y
Jﬂ’uﬂn EPgQy =00

(3 LEF

2
(4) LxP
(5) Question not attempted

* 100

The Pmbabnhty of t:nlwng a Question by A, B
and C are —, = and mspcunrciy What is the

2 Yy
Probability that let:nn will be solved?

mit

95. pfior dfhrr 3l SR fam @& gaw & wiE @
forg A —
(1) arfior fas wam & g d@f @ T
W e 2|
(2) 7pfior S @9 gt @1 e S dan 2
3R a7 gae wifer e £
Ftﬂlmwﬁ#ﬂﬁﬁaﬁ!ﬂﬁfm uy fi
;  UEF FET 8 IR WER ¥ a8 A [T ure
FHIl & |
(4) df | =or Ui Hed gl aefiol @
o e e wven 2
(8) s gwiRa uwA
96. fiFs @1 ey YEwE & —

‘1} 'EP,L}n EPy0,

2 g _ thoy

. x o ——,
JEPnQu g 00

(3) L+P
2
(4) LxP

(5) afta wem

97. 3, im'ﬁ'«%f&ﬂ#’rma‘rga v
IR wEe —‘ﬂsm L&) u & g 909

E&Eaﬁmﬁmw%?
11}‘

(2) 5 (2) .3_
4 4
(3) 2 (32
3 3
(4) % 4) 1
(5) Question not attempted (5) ;ﬁaﬁa PECH
8. Decrease in working capital includes in - 98. mridfier 4oft & w0 @1 whinafem e amar 2
(1) Uses of funds (1) &r§f &1 I9Em
(2) Sources of funds (2) HEt F1 =
(3) Both (1) and (2) (3 =1 (1) 3w (2)
(4) None of the above (4) 9w & | Fg T8
(5) Question not attempted (5) arpeiida weA
99. Ideal form of Acid Test Ratio is - 99. aps W@ IFUT & HEY wWHY g 8 -
(1 0.5:1 e (1) 0.5:1
(2) 1.5:1 EE (2) 1.5:1
@ 2:1 " (@21
(4) 1:1 (4) 1:1
(5) Question not attempted - (8) srgmia wed
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100. The interest rate on long term debt is 18% per

annum and the tax rate of company is 35%. The
cost of debt will be -

(1) 17.50%

(2) 9%

(3) 11.70%

(4) 18%

(5) Question not attempted

101. The time limit to lodge a complaint before the
district forum under the Consumer Protection
Act, 1986 is -

(1) One year

(2) Two Year

(3) Three Year

(4} There is no such time limit
(5) Question not attempted

102. .is a contract or financial
lmlrurnent that gwcs holder the right, but not the
obligation, to sell or buy a given quantity of an
asset at a specified price at specified future date.,
(1) Arbitrage
(2) Spot exchange
(3) Option
(4) Forward exchange
(5) Question not attempted

103. The degree of freedom is calculated in Chi-
Square test -

(1) d.£ =(C+1) (C+1)

(2) d.f. =(C-1) (r-1)

(3) d.L. =(C-1) (C+1)

(4) d.f. = (C+1) (r-1)

(5) Question not attempted

104. Broad Money has to be Sensitized through -
(1) CRR
(2) SLR
(3) Repo rate
(4) All of the above
(5) Question not attempted

105. Which one of the following Bank currently ranks
number one in India in terms of Market
Capitalization?

(1) ICICT Bank

(2) SBI

(3) IDBI

4) UTI1

(5) Question not attempted

100. Sefeprefls o v =09 ©¥ 18% affe & e

A H B B G 35% 8| WU B AP
g‘pﬁ =
(1) 17.50%
(2) 9%
(3) 11.70%
(4) 18%
5) a-Hia w9
w1 e sffae, 1986 & sarfa foren
?’\.’Hiﬁ uner Rread o9 s & g

(1) v =

(2) a1 =9

(3) = ad

(4) 0¥ 12 Ty A s B

(5) arfeiiRa wes

.................... U@ a1 fasira wme & o ans
# U fAfde # AN Y UE FAfee

(1) anfdg
(2) wife g

,‘Jﬁ}aﬁm
E}mqﬁmﬁwﬁa
FAART WE

1“-;?@—Hﬁqﬂawﬁﬁmﬁuﬁﬁﬂﬁﬁmaﬂmﬁ'

(1) d.f. = (C+1) (C+1)
(2} d.f. =(C-1) (r-1)
(3) d.f. =(C-1) (C+1)
(4) d.f. = (C+1) (r-1)

(8) argeia we

104. faga a1 @1 [drad g1 Haa9iTel @1 8?

(1) H{ram .

(2) vH AN
(3) a1 5%

(4) sudaa =il
(5) argerie wes

105. fr=feifiga @ @ &% adwE § qoR

ol & w9 # ARd | ugel HEie uv 82

) g g Aard. I
£ (2) Tt o

: (3) 3 S and

() & ans,

(5) srrailRe weet
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106. Ratio of Net Profit before Interest and Tax to
sales is -
(1) Capital Gearing Ratio
(2) Operating Profit Ratio
(3) Solvency Ratio o
(4) Net Profit Ratio
(5) Question not attempted
107. Which of the following is not shown in cash flow
statement?
(1) Capital Issued
(2) Tax Paid
(3) Projected Income
(4) Assets Purchased
(5) Question not attempted
108. Walter's model suggests for 100% Dividend
Payout Ratio, when -
(1) r>ke
(@) r<ke
(3) r=ke
(4) None of the above
(5) Question not attempted

109. “Skimming” in “E” Banking is a method of -
(1) Intimating the customer about his heavy

withdrawals
(2) Stealing Credit Card information

1“—§|ﬂﬁmﬁmﬁg§mmm§m
(1) goh E<iaeor arqum
(2) gferer o e
(3) ¥t e U
(4) 1 & ST
(8) srgmifa ue=
107. fFferfaa & @ 5wt I wae Rawor # 8
fezamn wmar #7
(1) 9oft =1 et
(2) =w Pram
(3) s ama
(4) wfeal &1 %0
(5) areiRa wee
108. g2y Wi & |o@ & FTER 100% S
I AU BT, OE —
(1) r>ke
(2) r<ke
(3) r=ke
(4) SudT A ¥ FIE TE
(5) areifRe wed
100.7g" dfFr & "Refr e W @R 2
fored —
(1) ge® &1 Iu@ JaRE g9 FEen § an
gftra &

1°d 5
(3) Transferring cash from one account ﬁ.ﬁ (2) shfee 1S @ B A HEA

another account

(4) Converting Debit Card into Credit Card

(5) Question not attempted

110. From the following, which statement is

incorrect?

(1) Special Drawings Rights are used to balance
unfavourable Balance of Payment.

(2) Special Drawing Rights are Voluntary
Participations.

(3) Special Drawing rights are also known as
Paper Gold.

(4) A gold treasury is maintained for grant of
Special Drawing Rights.

(5) Question not attempted

111. Combined coverage can be used to measure

relationship between -

(1) Sales and EPS

(2) Sales and EBIT

(3) PAT and EPS

(4) EBIT and EPS

(5) Question not attempted

'd 11, =

(3) Fepe &1 U W W TER @ H IaRE HI

(4) 3fae = F1 Bfde w1 4 aRaffa Hwn

(8) argifa we

0. fyforfaa & & FFw Fue wd) 781 87

(1) fadw smevwr @RI &1 wEm i
G 1 S i 2 - 6 B O 5 P E 2
ST # |

(2) A9y amevy wfeR 9 tRos fRwwd 2

(3) faery amewor SRRl S Frrel | 9 FE
ST & |

() e amevo afERl & goe & 0w
1Y 7@ I # |
(5) araRa uwA
T Ieilerd BT WANT §7D 49 T DI AT
- @ fore fmar o & -
(1) fama vg S
(2) i g dfandd
(3) fiudl. v §digw.
@) R A vd fw.
(5) areia weA
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112, LIC scheme of Mutual Fund is :- M2, Gfgs §imr Py & v @A 9 & —

113.

114,

(1) Dhanshree (1) g0
(2) Dhanvarsha (2) et
(3) Dhanvriddhi (3) e g
(4) All of the above (4) Swfge Wi
(5) Question not attempted L = (5) arrafa weA
In the context of Capital Market Regulations, ot arar fRAf & d@ed § ‘sagd 9
what does “KYC” stands for? T & —
(1) Know Your Customer (1) 3 reE @1 o
(2) Know Your Commission (2) 379+ HEETH o
(3) Keep Your Capital (3) 3o+ goft v
(4) Keep Your Currency (4) ol Har
(5) Question not attempted (5) srafe ue=
The formula to calculate cost of retained V4 ufaenf¥ar sl @1 @Fa §d &% & A
eamings is - B =
DPS .
(1)= MP;;'STCJ x 100 m= E!E].F.‘*ﬁ % 100
@ = fraag X 100 (2) = ——— x 100

MP(1-Tc)

_ E(1-TP)(1-B) % 100 - E{1-TP)(1-B) 100

@)= "ra-1g @)= "0 19
p+ 2D ; brg YN
{4}=—{q.,TH,)—xmﬂ o 4= —{nvrTEpTxmu
(5) Question not attempted E%f (8) 3rgeiRa W
115. FEMA came into effect from - 15. Gy B 9 1 gAY
(1) April 1, 1973 (1) 3ia 1, 1973
(2) January 1, 1999 (2) S=rae 1, 1999
(3) June 1, 2000 (3) 57 1, 2000
(4) March 13, 1991 (4) =1 13, 1991
(5) Question not attempted (3) Wﬁﬁ o
116. Which of the following form of loan is given by 116 Fp=ifeifiaa # 9 fvw wwu &1 0 sy
International Monetary Fund? HaT ®1 gR1 & wrer 87
(1) Medium term loans only (1) Haa WA T
(2) Short term loans only (2) ®ae sdFelE ol
(3) Very Long term and Medium term loans (3) sftrieirel= vd AT T
(4) Long term and Medium term loans (8) SredwTeitT Ud HemmTe ol
(5) Question not attempted (5) srgeiRa we
117. What is the meaning of C.P.M.? : 1::’ @dron | F areEd 87
0l e (55 0w e o
& c _ (2) frfewe wisa dus
ost Price Method (3) T urEE fore
(4) Comparative Price Method (@) FeRfRa gy dore
(5) Question not attempted (5) sy west
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118. Formula for computing Probable Error is -

=] 1+ r?
(1) PE = 0.6745 =

(2) PE = 0.6745 “—;*ﬂ 3

(3) PE = 0.6745 "T’ 1k

1-r?
(4) PE = 0.6745 N

(5) Question not attempted

119. A small industrialist wants to establish two types 119

of machines ‘A’ and *B’. It is assumed that total
profit earned from machine A and B are
respectively T 700 and ¥ 600 on the basis of this
linear programming will be -

(1) Maximize Z = 600 x; +700 x>

(2) Maximize Z = 700 x; + 600 x2

(3) Maximize Z = 7004x; + 600+x2

(4) Maximize Z = x; + x2

(5) Question not attempted

120. From the following which tool is used by SEBI  120.

to prevent large market movements?
(1) Industrial Licencing

(2) Foreign Exchange Intervention
(3) Fiscal Policy

(4) Circuit Breaker

(5) Question not attempted

121. [ India, what is Hawala? 121.

(1) Mlegal Trading in Stock Exchange

(2) Tax Evasion

(3) Bank Robbery

(4) Illegal transactions of Foreign Exchange
() Question not attempted

122. Which one of following is not the function of 122

EBI?

(1) Custodian of Cash Reserves of Commerci
Banks 3 "'E,\

(2) Accepting deposits and advancing loans 18+
public

(3) Controller of Credit

(4) Issue of Bank Notes

(3) Question not attempted

8. wurey fawm &1 o @ g & -

(1) s e = 0,6745 S
T
(@) vl = 0.6745 4 :’3}
(3) e fww = 0.6745 %
(@) e T = 0.6745 =L
75

(8) s wea

U o FEAfd ‘A9 B’ &1 WeR @ #ene

I aTEdT 8| 9% A9 B e @ g9Ef |

I I 700% TR 600F BT AW frEa @

FAF B, T FH MR W YEw wdmE f

G e B HF B —

(1) sfeyer1iers Z = 600 x; + 700 x»

(2) sfermifers Z = 700 x, + 600 x>

(3) sfSyHIRE Z = 700 + x5 + 600 + x>

(4) sifermifers Z = x) + x2

{ﬁiaﬂﬁﬁﬁm-‘-r

FreferfEa & & 94 gmr aoR & 99 saud

@ e @ forv fva Sumer & Suam

T 27

(1) sirenfire agwfim

(2) g a1 evaEy

(3) yramidra Hifa

(4) wf¥ie dod

(8) argeie e

WA ¥, Tl T 27

(1) wEid oWl o ey agR

(2) FY aggeH

(3) g% sehell

(@) fagell wz1 &1 A SR

(5) agaie gea

Fr=ferftag o @9 wwd fod & & o

T &7

(1) giftrfSus 451 & He wagl 1 Afme

(2) S &1 W @ SN ST B
e Sl

(3) wrg FEs

(4) et @1 e

(8) armifta weA
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123. Which of the following is not an objective of
IDBI1?
(1) Not-providing underwriting or direct

123. fr=forflas @ § W sienfhs Ree @@ @
e P TE B?
(1) srenfires gaEal &1 AT E wEE WO

subscription to debt instruments of industrial T @ied B T A8 S|
Concerns. . GRTITTAT

(2) To provide long-term finance for ;ﬁam i W ST S SRR
establishment of new project. TR S

(3) To provide Forex services. (3) R ﬂm Rl ATt wET B |

(4) To offer merchant banking services. (@) wefe dfT wan uerer He |

(5) Question not attempted (5) araRe we=

124. [f expected value in Chi-square Test is not less
than 5, then what should be applied?
(1) Karl Pearson correction
(2) Fisher's correction
(3) Helmert correction
(4) Yate's correction
(5) Question not attempted

125. Which one is not a salient feature of Special

Drawing Rights?

(1) Special Drawing Rights is a new created
assets to increase International Liguidity,

(2) Special Drawing Rights is not a voluntary
participation of member country of IMF.

(3) Special Drawing Rights is used to balance
disequilibrium of Balance of Payments.

(4) Special Drawing Rights is controlled by the
e =

(8) Question not attempted

126. Choose the appropriate mode of payment by

Indian resident for making overseas investment -

(I) By way of cash

(1) By way of Swap of Securities

(IlI) Out of funds held in Exchange Eamer’s
Foreign Currency (EEFC) Accounts

(IV) Out of ADR, GDR and ECB's

Choose correct code -

(1) (II), (III) and (TV)

(2) (11) and (III)

(3) (D, (II) and (IIT)

(4) (I) and (IT)

(5) Question not attempted

124. 7y grd—art wderor § anfda qou S B9 T
8, ©r @ g EiEd?
(1) #rel s e
(2) fre &1 W
(3) goAE &1 HHES
(4) I= &1 G
(5) srgeiRe we
125. fdry amevor siftre @1 He ey S T8l
27
; 1) fadry sirevor aiftrew sl averan 4 afy
“Kir o A gef 2
(2) fady ameEvwr GRPR WETITE 3 USHW

e @ tftos fewiad T8 &)

(3) fadiy amevwr AfER wfga qraE dwgen
B &% B ® ford WG B £

(@) Ry amERer ARGR  ETATE. BN
fAafaa )

(8) srgeifea weA

126, fagsft o @ & o W Farh gm

WA w1 SfHd ave g1 —

() &% NI

(ID) wferfer =& gmr

(111 TEEa 3R B Syl adra—= (EEFC)
# T T W

(V) uaR, MR 720 A9 & g™

A w8 v 9t -

R @) @y, am wE avy

(2) (I1) wd (111)
(3) (D, (IN) T& (11D
(4) (D) Ta (IN)

(8) sraia ue
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127. Which of the following tests can be applied to

128.

ordinal scale data?

(1) Chirsquam test

(ii) Z - test

(iti) Kruskal-Wallis test

(iv) Wilcoxon-Mann-Whitney test
(1) (i), (ii) and (iii)

(2) (i), (ii) and (iv)

(3) (ii), (iv) and (jii)

(4) (i), (iii) and (iv)

(5) Question not attempted

1.1

What is the principle to decide equilibrium or

saddle point in Game Theory?

(1) Points where Row Maxima and Column
Minima are equal

(2) Points where Row Minima and Column
Maxima are equal

(3) Points where Row
Maxima

Minima < Column

(4) Points where Row Minima > Co
Maxima 4 .
(5) Question not attempted b,

129. Caleulate the annual increase (sales amount)

from the following data by semi-average
method.

Year: 2016, 2017, 2018, 2019, 2020, 2021, 2022
Sales (Lakh T ): 187, 190, 193, 198, 197, 205,
216

(1) T2 Lakh

(2) T 4 Lakh

(3) T 3 Lakh

(4) T 1 Lakh

(5) Question not attempted

130. From the following which is not the cause of

disequilibrium of Balance of Payment?

(1) Change in the Pattern of Production
(2) Increasing burden of foreign loans
(3) Increase in Exports

qTF

(4) Increase in Imports
(5) Question not attempted

127. 59 wEa A0 aieel W Frefafaa & @

Biar TEY wy B @ awa 82
(i) rE—a7 e

(ii) SrE&—gteror

(i) FHEhoi—arferd Ty

(iv) edian—ia-fae whemor

() (i), (i) SR (i)

(2) (i), (ii) 3 (iv)

(3) (ii), (iv) 37 (iii)

(4) (i), (iii) 31 (iv)

(5) argafta wv

128. wor fgra W fasg a1 Wsa dig= @@

e @1 fgra siar 22

(1) Rzt fasg we wifda e vd wos Em
— U B

(2) fore famg w dfde ~Fem vd w@oe gfRean
R Bl

(3) fora famg v dfdm <prom @vs aftiead 9
M Bl

(@) o/ famg W dfde <gem @vs afea 9
o A

(8) Freiivea WA

129.qffs gfE (R afl) & o Fefale

THS! & R 9 3 A i F s i |
a : 2016, 2017, 2018, 2019, 2020, 2021, 2022
fa@mt (ama TH): 187, 190, 193, 198, 197, 205,
216

(2@

@) 4am@a

(3) 3oz

(4) | srE

(5) srgaRa weA

130. Fyiferfiam & sam wgEd d SwE @6

TR T 87

(1) Seares & wean | ultads
(2) fag=h =vil &1 ggdr g AN
(3) Frafar # gfe

(4) s # afy

(5) argeifa weA
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131.

132

133

134,

135.

‘Finance for Exporting Companies' as a part of
major Programmes of the EXIM Bank of India
does not include -

(1) Working Capital

(2) Post shipment Credit
(3) Term Loans 2
(4) Overseas Investment Finance

(5) Question not attempted

An lce seller earns ¥ 2000 per day in hot season
but he losses T 750 in the cold season. Find out
his expectation per day. The probability of hot
season is 0.6.

(1) T 900

(2) T 2083

(3) T 1250

(4) T 2750

(3) Question not attempted

RTGS means -

(1) Registered Time Gross Settlement
(2) Reported Time General Settlement "
(3) Rational Time Gross Settlement

(4) Real Time Gross Settlement

(5} Question not attempted

Capital of x Ltd. is ¥15,00,000. Its capital
turnover ratio is 4 and profit on revenue from
operations is 10%. Return on Investment will be-
) 40%

(2) 50%

(3) 30%

(4) 20%

{5) Question not attempted

Frain the following which statement is correct?

(V) Crawling peg is not related with managed
floating exchange rate.

(2) Crawling peg is related with mana
floating exchange rate. e
1.

(2) Crawling peg is related with devaluation.

(4) Crawling peg is related with fixed exchange
rile system.

{S) Question not attempted

131. e # feaer ofdem & siiv sPear &

U HEEE & Uh 9 @ w4 Faieen
st &g faa &1 wifaa 781 far s
87

(1) srdeiie gui

(2) 516t ST F A1g FOT

(3) ey =or

(4) et faw A=

(5) geeifita we

132. v aw Ay Wem o9 B1 T 20008 wfafe=

o e I s
750 @1 &1 Sor gsdl 8| a9 [Amar B 9l
= wenfer sme gaEy | deE TR B @)
wifret 0.6 & |

(1) 900%

(2) 2083%

(3) 1250F

(4) 2750

(8) srmiRa e

153 e Ahioy 9§ e & —

(1) el wHSE @1 golige WHY
(2) =g s @1 wioafed ¥
(3) wane wWEG @1 3T T
(4) wige GHEd &1 aalds |Hy

() sigeifva e

134, ot for. 1 501 15.00,0002 % | gy ot amadh

FUE 4 & wen oReEier | g 9 @M 10%
| fafar o goma @ 5w el —

(1) 40% ‘

(2) 50%

(3) 30%

(4) 20%

(5) srqmiva weA

135. fryrferfia & § SIET $U9 waEl 87

(1) fawwar fag wafag @meen R = 9
i =@ # |

(2) fagemar g wafadg ever RAfm e 9
et ¢ |

(3) Rawrare fag seseas 91 | & |

(4) fewaar fawg Rer Rfm & worel @
W 8

(5) argeifRe W
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136. From the following which one is not related with

136. fFrafeitaa 4 W @AW U@ difgd  w0Hal

Intellectual Property Rights? SRRl 9wt T8 87
(1) Tnfadumarks :;: @;T
(2) Goodwill
(3) Industrial Design () sfienfires fme
(4) Patents gj (4) g
(5) Question not attempted FEa A (8 SgaRa we
137. In which years India had Trade Surplus? 137. f5e a9l W wRa @1 @R w9y w9’
(D1972-73 (I) 1972-73
(I1)1956-57 () 1956-57
Qe &) 19777
(IV)1977-78 i ]
Choose the correct code - WE PIS B UG DY -
(1) (1) and (11I) (1) (1) S (11D)
(2) (I1) and (IV) (2) (1) 3f% (TV)
(3) (I11) and (IV) (3) (111 3T (IV)
(4) (1),(T0),(11T) and (IV) (4) (1), (IT), (HIT), 31 (IV)
(8) Question not attempted (5) it wed
138. What is not included in the Theory of Portfolio  138. uréwmiferal wae & fygia § w0 wiatem T8
Management? A
(1) Capital Assets Pricing Model (1) it wafer e el Hise
(2) Modern Portfolio Theory : % (2) smgfra tewieral g
(3) Black Litterman Model R (3) S forewds dise
(9) Portfolio Construction Theory (4) gewmiferar Fmim g
(5) Question not attempted () srfwilea wea
139. Government Securities are typically considered 139 wR@Tdl wiefai &1 amsde o #=1 wiven & -
to be - (1) w21 e
(1) SEmcuh?u've Investments (@) Fe e are fHae
gt o v
(4) Low Risk lnvge.sunents () 7w S Ay Fse
(8) arfeiiver ue

(5) Question not attempted

140. The share price of a company is T 64 per share.
If the dividend declared is T 4 per share and the
Growth Rate in dividends is 5 percent, what will

0. v mwoefl & oW @ i A 64 TE | Al
@Al A 4 T afa ater vty eifde fEa & aen
wraret # 5 uforea @ afg 2% 8 o wwen ol

be the cost of equity capital? B AT B —

(1) 20% (1) 20%

) 32% ;-Ea (2) 32%

(3) 5.25% A (3) 525%

(4) 11.25% (4) 11.25%

(5) Question not attempted (8) ST wed
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141.

142

Total return on a security is equal to. the

following -
(1) Periodic Cash Receipts + Capital Gains
Purchase Price of the Security

14

{2) Periodic Cash Receipts + Capital Gains -
Current Market Price of the Security i
LY

(3) Periodic Cash Receipts -
Current Market Price of the Security
(4) Periodic Cash Receipts — Capital Gains
Furchase Price of the Security
(5) Question not attempted
Banking Ombudsman Scheme was introduced
by RBI with effect from -
(1) 1995
(2) 2001
(3) 1998
(4) 2005
(5) Question not attempted

143. Fyll form of ECGC of India -

(1) Export Credit Guarantee Corporation of India

(2) Export Credit Guarantee Committee of India

(3) Export Cash Credit Guarantee Corporation of
India

- (4) Export Cash Guarantee Corporation of India

144,

145.

146.

(8) Question not attempted

Which one of the following is not & kind ﬁ“
Mutuoal Fund? al

(1) Liguid Fund

(2) Taxable Fund

(3) Stock Fund

(4) Offshore Fund

(5) Question not attempted

Due 1o Brettonwoods Agreement
International Organizations were born -
(1) IMF and ADB

(2) IBRD and IDA

(3) IMF and IBRD

(4) IBRD and IFC

(5) Question not attempted

Which of the following components of Balan
of Payment is incorrect?

twa

142.

143.

-ug yftrfa @1 wa wena el @ avmEs
g & —

(1) smafine drwve e 4 gofrr

uferyfe &1 &0 5=
(2) smafi dwg Wit + ol @™

wfinfer @ wie, ATAN

(3) smafirs Ve miti

ufesfe =1 e aAR g
(4) wwafirs We mikwt - gufa @

b G T

() argeiRa W
fod d@ aitw sisay gwy 4T Sare AT
& o Mg A —
(1) 1995
(2) 2001
(3) 1998
(4) 2005
(8) srqwiiva wea
s § S B o AW g —
(1) siefr Frate wra TRed Herm
(2) vl fafe g TRvE @9
(3) W ot A@e W TR e

(4) i Frofa A@e TRvd) e

(5) eIl wes
?ﬁﬁ#aﬂwm‘wﬁmﬁrﬁrmwaﬁ
5

(1) sva Al

(2) weary A

(3) w1 A

(4) s A

(5) argerive we

145. geqged wWEld 9 @1 srFowierg el &

L

= gl —

(1) g v s, uvg Ul

(2) s N dl s FE s

(3) 3 TH UG, TS E AR Sl

(4) ag I E. e and el

(8) sFeRa wE

A Hged @ Frefoiad gewt § @
e 87

(1) Capital Account (1) e @
(2) Unilateral Payment Account (2) Y@TRET I AT
(3) Current Account (3) =re]. @
(4) Bilateral Payment Account (4) feeresst Joar @
(5) Question not attempted (5) srgaia wet
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147. A B.C. Analysis method is related with - 147.

(1) Cash Management
(2) Inventory Management
(3) Working Capital Management
(4) Bills Receivable Management L
(8) Question not attempted i
148. Rank Corrclation Coefficient between marks 148
obtained in Economics and Statistics by some
students (rw)= 0.8. sum of squares of rank
differences (ED”) = 33
Find out the number of students.
(1 10 (2) 3
(3) 26 (4 41
(5) Question not attempted
148. The Securities and Exchange Board of India was ~ 149.
not entrusted with the function of -

(1) Promotion of efficient services by brokers
(2) Ensuring fair practices by companies
(3) Improving the earnings of equity holders

(4) Investor Protection 5
(3) Question not attempted al
150. Consider the following statements - 150.

(1) Investment made across the national
boundaries are known as International
Investment.

(i) When such International investment is used
to setup and operale production or service
facilities in other countries it is Foreign
Institational Investment (FIIs).

(ii1) When international investment is in
financial assets, it is referred 10 as Foreign
Portfolio Investment (FPI).

Choose the correct code -

Code -

1) (1) and (1)

(2) (i) and (ii)

(3) (1), (11) and (1) mEye

(4) (ii) and (1ii)

(5) Question not attempted

v fAvemy aedie wefaa 2 & —

(1) Yigve e

(2) Ty we

(3) e qoll wew

(4) g faet was

(5) arpaifa ue

aefere ud witasl % &u il g ara
Pl ® A Pife HEHGH TN (rp)= 0.8, DIl
3 @ 9 @ anT (EDY) =33
faenfefer o1 wwem aifon |

(1 10 (2 3
(3) 26 4 41
(8) arfeiRa wed

TR W g i 4 @ el ggd @
e 1ar -
(1) <errell 51 |9 Harl &1 A
(2) HrafaT |él T BN gED GAFET H
(3) FHEAT SVERE] &1 AT H g8 1
(4) s wwem
(5) areifa ue
friforiiad @ uv faam & -
() Wy dmel @ ox feg o fAaw @
s Raw & w9 § S i |
(i) 51 W9 aFaesTa Hae &1 Suanr s <9
H Seree A1 dal giauen &1 wenfa s
s wafera & @ forw fea @mn & @
faceh weemme R (Fis) &)

(i) w19 il fRgw fadha afeeafear o
BT &, 91 39 fasvh uidwiferan Fraw (FPp
W AT B |

el IS B a7 P —

®e —

(1) (1) U9 (1ii)

(@) (i) vd (1)

(3) (i), (1) @4 (iii)

(4) (ii) 9 (iii)

(8) sl e
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